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ROTATIONAL MOTION AND STATICS

A solid block slides down a frictionless Incline. A solld disk of the same
o mass rolls down an {dentical tncline. Decide which object reaches the
bottom of the incline frst or if they tie. Provide your reason. Next,
complete the work-energy bar charts for the block system and for the
disk system. atarting with the objects at the top of the Incline and end-
ing when one or both reach the bottom. The kinetic energy can be in
the form of tranalational kinetlc energy (Kt) and/or rotational kinetic
energy (Kr). Can you now underdtand why the race ends as it does?
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ROTATIONAL MOTION AND STATICS
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7.1% Woman and Flywheel Elevator — Energy Approach
¥ JY APP

A 60-kg student hangs on a trapese held by a rope
wrapped around &  ‘m-radius Nywhee! with a
rotational inertia of  %gem®. The studem: marts
at rest. Determine her speed after falling S0 m
towards the ground. Assume that the gravitation-
al constant (s 10 N/kg. Ug s the gravitationa!
potentia) energy, Ks is the student's kinetic ener-
qy. Ky 1s the llywheel's kinetic energy.and Ui is
the Internal energy due 1o friction (zero in this
problem)

- Nl il i gidy




